WA - Rz 2013/6/1,2 FHE Vi Hetepk B e
B4 o5 3IE] e o R R AR e B R AR
Wit 4 TV SEEh A R g i FLER T B 15&
TR R4 (— e RHEN) e Esis e 2 b 4 Lefle Bt e
B £+ fEH 14z PATA RYITA AT 5L 6L e 8L
VT 6H1H L00m B =& 1241 (1L AR Bk 12.49 (+0.7)| =i# 1KER 1250 (+0.7)|EH §& 1252 (+1.1)| T8 ERK 1253 (H1.1)| R [E# 1267 1. AR 2K 12.70 (+0.8)|BHE X#0 12.71 (+1.7)
B5E AFH AR AFH S| hnsE L% it
A1 L5000 AxEZ BR 43480|28 EF 4:36.33|B% —4%£ 4:37.34|108 [E 4:3858|/\ ik #hAT 44454 LA BE 446 31| A Hilh 4:46.55|/M)I| B2 4:47.23
KRR bk XBE e B =K = g g
903687 | 6H2H Loom TE s w11.00 (+2.2)|8THE & wi11.06 (+2.2)| R LE willl (+22)iETF 5th  wi1.32 (+2.2)|BEA ZREE wi134 (+22)| B3 R wi137 (r2.2)| A ik w11.38 (+2.2)[IaK FERE 11.39 (+1.3)
fHEE R ZER =K BB BHAR AL AILm INER
65125 S00m BRIl PR 2:01.87|{&/E RESR 2:03.41|i%% lgmh 2:03.74|mA &I 2:04.46|#XE fFF 2:05.07|)113 E 2:05.29| KR+ #IK 2:06.39|HA SR 2:07.08
Ez fhEETE fhEE R *HE b= £ KRR HE RE
6410 1500 RE fE 4:10.75| % = 4:10.77|1EE BESR 411.33|EE X 4:1247|MH EE 412.74|AAX BE 4:1347|FIH #FFE 41349\ A —& 4:14.45
Ei: b} RABR fhEETE BES &1 125 BEHR ITEE
6A2H 2000m hneE = 9:00.93|FE AKX 9:00.95|MNFH EiE 9:09.05|;EFH HEHE 9:09.06|F81 KRE 9:0943|EA HE 9:10.63|[RE F03E 9:17.26|% Z#t 9:18.75
AAR = & pNE HE 1257 3] KBE
WWE &4 400(3z BE 3.50|#kmk &3t 3.10|AE BE 3.00 EarK B2 3.00)ik#HF dest 2.90
/110 - FEE— BE®™ R w8 fHEE R > o
Xl B® 3.00 EX 2 2.90
B# AHIL
6H1H - AT F— 6.29 (0.0)|f&LL BF wb.17 (F2.)|EE &K 6.07 (+2.0)|FTEF #ith 6.03 (+0.9)| AL E &k 5.93 (-0.1)|#2H FEEE 592 (+1.2)| =5 FOEE 5.88 (+0.5)|#ME &— 5.86 (+0.4)
EREETE 535°¢ KE BEX tHE [R5 35| INER
6H12H — Blg £ w1294 (+3.4)|5EBE M 1227 H15)|AE B2 1219 (+1.6)| AL EB 12.05 (+2.0)|#2H BEEH 1201 (0.0)| EH BE w1201 (R2.2)| R BA 11.96 (+1.9)|5z 1E& 11.95 (+1.2)
AFTE AHL ;A +HE rg | BEE— AHIL BEEm
6A2H _— BullIpa =t 15.68| A F & 12.98| X% KiE 12.79|E@ 1&F 12.36)/M 2 8 —ER NN|RE A& 11.56|10 ZRHE 11.55|fRER ESR 11.25
Fidiik=) EHRR fBEER i BE oh &R EAH BEEm EHE BE
6810 o Ml ER 4061|XE Kig 39.26|)58F ¥ 3844|HO HL 37.62)/\#k 1B 36.32|'RE AR 35.85|7E)Il EEB 34.72[0 8 32.64
#HEa FREE® EEE AFHE a3 BER AHI EiE
6/1~6/2 | RS ER 2563|111 a4 2542|F g 3 2494|Fa7% BER 2379\t w3k 2361 Ft RE 2337| R R4 2277|% % T4 2268
__________ s _____|EER _________|AFE _________[EEm_________|IEAF__________[EE___________|FEt _________[®EE __________
6H1H 110mH 15.44 (+1.3) 15.36 (+0.5) 16.66 (+1.6) 14.62 (+0.5) 15.30 (+0.5) 16.23 (+1.3) 16.18 (+1.6) 16.18 (+1.3)
EVICH RS wi[ T T T T T wos| T T T T e ge6| T X oot T T T T T T 79 T T T T T T T T T 9
Y I R e o I )| % T Y . R
6120 a0m | T searf - T T T T T s38s| T T T T X R Y ) s5.43] T T s5.80] T 56.89




WA - R 2013/6/1,2 FHE Vil SeeVeRlE BEs Mg
ks et 55 3a] e R e e R RO
it 4 T 1 S A R g i FLER AT B 1E&
T4 (—MH BN Fefke Fit e 2 b 4 e BT e
BE EHE 1330 (H1.D| EB EiETE 1368 (+1.7)| ER HZE 13.69 (+1.8)| AR =5Y 1377 (+1.7)| FiA BAF 13.82 (+1.8)| AR Mt 1401 (+1.8)| %48 P53 wi4.02 (+2.1)|EH X 14.09 (+1.7)
A L00m LB pyES HWwE hnss BEHR =) bl g oo
I/NHH FLY 1409 (+1.8)
EHR
6A1H 200m fngE HETE 2:2067|HE =EF 2:2105|F XER 2:21.23| K8 Hiz 2:2202|88H BX 2:2406| KT EBH 2:2533|Ht FRE 2:26.39|¥H EF 2:29.41
BES =15 REBFHR BEE 2E =K =X® ERSRE
oieter | 61m coon  |EF AR 2:1645| €K RIE 2:1987|&D #3312 221.19|8] K% 22134|%E TEFE 2:21.49|1%% HH 22220\ AR RE 222204k # 2:22.80
INEFRE INER RE g RE INEFRE pN:D] T
Y 6A1H 200m B U4 2:10.55|FkIL HHB 2:12.28| LA T 2:17.34|18)11 #BiE 2:1952|F%0 BF 2:19.64| 111 /INET 2:19.92|f4 % H{ER 2:2213|lLK BER 2:22.30
LLiB% NGR|EER HhEETE RE X wE BE HE
BX &R 12.32 (+0.9)|#8H #EX 12.33 (+0.9)[/NER rpLY 12.50 (+0.9)| =#F #5 12.58 (+0.5)| KiF =48 12.60 (+0.9)|\ER EEF 1271 (+05)|18 EFx 1275 (+0.9)|=@H Z3F 12.83 (+0.5)
2:3% &+ | 6H2H 100m
pNE S| INER #MERR X £HEE T INEFEE BE
6H2H 1500m B % 4:3453[Fl HHAS 4:38.28|# )1l iR 4:4002|F EFH 44355|%0 BF 4:4457|HK HME 4:45. 44|10 Bp ER{EZRY 446 58| MKt ¥ 4:48.26
INEFEE fEER RE BEHR #3 R B 15E bikis
R $E% 5.14 (+06)|f5A EEH 508 (+1.3)|FEAR HZE 502 (+15)|=H TR 496 (+1.1)| M =7E 494 (+0.9)|=HE HKIE 487 HO|AIT FIF 484 (+1.6)|h#f = 4.80 (+1.4)
6H2E - BEIEMRR EA pNES 3TN Kig R4 b xR
AL BAKk 4.80 (+0.5)
INEF
6510 —— Bl fnEE 1463|172 EE 1263|BEAR KR 12.34|8 =% 1228| UK I6H 12.24|478 #m 11.70 M8 #5655 11.30(F% #y 10.89
EA NGR|&E % E FEHI =374 ;A EA Pl ax
6A2H p Bl fnE 32.29| A KR 31.00|FH F&F 28.86| K& EBEFE 28.37|miE BF 28.08| LA 1GF 2782| L% EMW 2157\ MB #B3 26.75
EA HEHIL pNE HE FE ;A EE B
6/1~6/2 | mERs: NE BRE=E 2716|HE EXR 2680|iEED EEF 2653|"TN IE 2468|/RHE #HhK 2439\ WERTE 2396| 8 Inf 2389| LR HFE 2387
__________ gwEE_ _______ (=x@ _________|wem ________|#FERm_______ s _____|=A® bR _|Ex
6H1A 100mH 15.53 (0.0) 15.11 (+1.4) 14.78 (0.0) 15.13 (0.0) 16.22 (+0.2) 16.84 (+0.2) 16.04 (+0.9) 15.25 (+1.4)
I = Y ) tal T T T T 2 . Y R )
TeH2n | mnd | T T T w00 T T T T T T T s T T T T T T T T T e T T T T T T T T ] I 961 T T O] I Y| Y 1
6A1A | 200m | 27.02¢v08) 27.05 t0.8)| 2595008 2139 0.6 T 2672 06| 98970 T 2650 (+0.9)] T 27.99 (+0.6)

w (wind assist) : IBJAS%E




